GCSE Business
Exam Technique
Mat

PLT: Point... Leads to... Therefore... Use this to develop your points.

Context: To write in context, make references to the case study. Think
PINCC (Product/Service, Industry, Name, Customers, Competitors).

Remember, anything mentioned in the question does not count as context.

1 and 2 mark ‘outline’ question

It is important in the 1 or 2 mark
questions that you are using context.
You have to link your answer specifically
to the business in the case study
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If the question refers to a specific business then
context must be included in the answer - even for a
one mark question. Always read through your
answer at the end. Ask yourself 'Have | included
context that goes beyond words that exist in the
question?’

3 mark ‘explain’ question

The three mark structure is the basis for
all of the other higher mark questions in
the paper, so you need to ensure you

get this right! When answering the three
mark question, follow the PLT structure:

You don’t always have to write
‘because’, as this is essentially your
point. See the example below of a
perfect answer.

‘Explain one benefit to a business of
understanding customer needs’

(P)The business would be able to tailor
the product to the customer needs, (L)
this leads to the product being more
suitable for the customer, (T) therefore
allowing them to charge a higher price.

6 mark ‘analyse/discuss’ question

Don’t be daunted by the 6 marker! It is
essentially just two 3 markers in one!
Remember that for the second and third
6 markers, you need context! Also
remember that if the question asks for
impacts, these can be positive or
negative.

Like the three markers, you need to give
a series of linked chains, explaining what
will happen as a result of the
impact/benefit etc you give. You need to
aim for 5 linked strands in total.

You can either:

e APLT paragraph giving one
impact/benefit

e A second PLT paragraph giving
another impact/benefit

OR

o One single paragraph that has an
impact and 5 linked points developing
that impact
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It is probably easier to build five linked strands
of development a(ross two points (impacts) rather
than one point (impact). If you decide to do this,
make use of a paragraph structure to make your
answer more readable,
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When answering the 'choice” question,
select one option and consider the pros and
cons of that option. You do not have to
consider both options as part of your
answer. Using this tip will save you time
and make it more likely that your answer
will reach level 3 in the mark scheme.
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Making use of the 'it depends rule'is

a way of showing the sophisticated
evaluation required for your answer to
go from 9/10 to 10/10.




